## **APPETIZERS**

Pretzel Bites 1/2 Tray \$50 Full Tray \$100 Crisp and fluffy pretzel nuggets served with queso blanco.

**Veggie Nachos** 1/2 Tray \$50 Full Tray \$100 House-made tortilla chips topped with queso blanco, diced tomato, red onion, black olives, and jalapenos.

**Ultimate Nacho** 1/2 Tray \$75 Full Tray \$140 House-made tortilla chips topped with queso blanco, diced tomato, red onion, black olives, and jalapenos. Choice of: Chicken, Beef or Pork.

**Pickle Fries** 1/2 Tray \$60 Full Tray \$120 Served with ranch.

Reuben Eggrolls 10pc Tray \$50 20pc \$100 Hand-rolled in-house, stuffed with corned beef & Swiss cheese. Served over sauerkraut with a side of thousand island dressing.

**Mozzarella Sticks** *30pc \$50 60pc \$100* Served with your choice of ranch or marinara.

Chicken Wings 51bs \$75 10lbs \$140 Naked wings seasoned with house-made dry rub and fried to perfection. Served with your choice of dipping sauce.

## **ENTREES**

**Chicken Tenders** 5lbs \$75 10lbs \$150 Served with your choice of dipping sauce.

Beef Sliders 15 Count \$60 30 Count \$120 Beef sliders, topped with American cheese, bacon and grilled onion.

Chicken Sliders 15 Count \$60 30 Count \$120 Crispy chicken topped with pickles.

Pulled Pork Sliders 15 Count \$60 30 Count \$120 House-made pulled pork smothered in BBQ sauce, topped with a pickle.

## **SIDES**

Beer Cheese Mac 1/2 Tray \$40 Full Tray \$80 Beer Cheese Mac topped with shredded cheddar, parmesan, and baked in the oven.

**Onion Rings** 5lbs \$60 10lbs \$120

Sidewinder Fries 5lbs \$40 10lbs \$80

Kettle Chips 1/2 Tray \$25 Full Tray \$50

**Tortilla Chips** 1/2 Tray \$25 Full Tray \$50

# 16" DETROIT STYLE DEEPDISH 10 SLICES

Cheese Pizza \$18.99

Pepperoni Pizza \$19.99

#### Veggie Pizza \$23.99

Topped with tomato, onion, jalapeno, and black olives.

#### BBQ Chicken Pizza \$24.99

Topped with grilled chicken, bacon, onion, BBQ drizzle, and green onion. (Does not contain pizza sauce)

#### Meat Lovers Pizza \$24.99

Topped with pepperoni, sausage, and bacon.

### **G.O.A.T Pizza** \$25.99

Topped with grilled chicken, cheddar, bacon bits, and ranch drizzle. (Does not contain pizza sauce)

## **SALADS**

House Salad 1/2 Tray \$60 Full Tray \$120 Mixed greens topped with cheddar cheese, tomato, cucumber, onion, and crouton. Served with your choice of dressing.

Caesar Salad 1/2 Tray \$70 Full Tray \$140
Romaine lettuce topped with parmesan cheese
and croutons. Served with Caesar dressing.

## **DESSERTS**

Cheesecake Eggrolls 10pc \$50 20pc \$100

**Cookies** 10pc \$20 20pc \$40

**Brownies** 10pc \$30 20pc \$60